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1. In a demand paging system, a page fault occurs when

       a) the addressed page is not found in both the TLB and the main memory.

       b) the addressed page is not found in either the TLB (only for odd page addresses) 

or the main memory (only for even page addresses).

       c)  the addressed page is not found in the cache.

       d) the addressed page is not found in the main memory.

       e) None of the above

2. Convert the decimal number 345.676 to base 6.

       a) 333.402

       b) 333.204

       c) 333.403


       d) 1333.402


       e) 1333.204

3. Consider a virtual memory system in which the virtual page addresses are mapped onto  

     physical page addresses as follows:

          Virtual page address

Physical page address
                        0



3

                        1



2

       

2



1

   The address of any byte in this system is given by the ordered pair (v,d) where


    v = virtual page address


    d = byte offset in the page

  Assuming that the main memory is capable of holding 4 page frames, what is the 

physical address of a byte having the virtual address (0,512) given that the page 

size is 1024 bytes?


a) 3584

            b) 2560   


c) 1536


d) 512


e) 1024

4. When does the Q output of the R-S latch go high?

      

CLK

                  A      B      C      D      E      F      G


S

         S

        


  CLK



        R


a) B


b) A


c) C


d) E


e) D

5. What is the logic function generated by the circuit shown below?

                                      A

                  

                                     B

                  

                                     C

                                      D


a) A.B.C.D


b) (A.B)’ + (C.D)’


c) (A+B+C+D)’


d) A’.B’.C’.D’


e) (A+B)’+(C+D)’

6. The clock interrupt handler in a computer takes 5 ms for every clock tick. If the CPU 

clock  rate is 60Hz, what percent of CPU time is devoted to the clock handler?


a) 20


b) 30


c) 40


d) 50

 
e) 60

7. The following is the page request stream generated in a virtual memory system employing LRU algorithm:

       1 7 1 3 4 6 3 8 2 1

     If the main memory can hold 4 page frames, determine the number of page faults.


a) 4


b) 5


c) 6


d) 7


e) 8

8. Convert the number 486 to Gray code.


a) 110100101


b) 100101011


c) 100010101


d) 111000101


e) 100000100

9. In the following declaration, what does x represent?


int ( * ( *x(char *)  )[]  )( );

       a) a function which accepts a character pointer and                     

                returns a pointer to an array of pointers to functions returning int



b) a function which accepts a character pointer and returns a pointer to a function 

               returning a pointer to an array of pointers


       c) a pointer to a function returning a pointer to an int array



d) a pointer to an array of function pointers returning ints



e) None of the above

10. How can you most efficiently optimize the loop shown below?


         J = ADDR - 100


         I = J/3


         K = 0



  TEMP = 0


  LOOP: 
TEMP = K * 10




B = K/I




K = K+1




IF K<=10 GOTO LOOP



a) J = ADDR - 100               b) J = ADDR - 100

 
           I = J/3


 I = J/3


        K = 0


             K = 0


           TEMP = 0                                 TEMP = 0



    LOOP:


  LOOP :



       TEMP = TEMP + 10

TEMP = TEMP + 10



       K = K + 1




B = K/3/J

      

 B = K/3/J
         


K = K+1




IF K<=10 GOTO LOOP
   IF K<=10 GOTO LOOP

       c) J = ADDR - 100


d) J = ADDR - 100


      I = J/3



                I = J/3


      K = 0



                K = 0


      LOOP :                                                    TEMP = 0




TEMP = K * 10                          LOOP:




B = K/J/3                                               TEMP = K * 10




K = K+1                                                B = K/I




IF K<=10 GOTO LOOP

   K = K+1









   IF K<=10 GOTO LOOP

        e) None of the above

11. In a swapping system, deadlock occurs when

a) all processes in main memory are asleep and all processes that need to be run 

are swapped out.


b) enough memory is not available.


c) both (a) and (b) above.


d) Deadlock does not occur in a swapping system.


e) None of the above.

12. What is the size of “struct xyz” (in bytes) in the following:



struct xyz {




char c;




struct {





int a;





short s[100];




} x;




union {





char ch[10];






int a;





long d;





} y;




int *ip;




struct xyz *ip;



};




(Assume word-aligned storage and the word size is 4 bytes)



a) 248



b) 252



c) 256



d) 260




e) None of the above

13. If the result of 3+2*4/2 is 10, what is the operator precedence?



a) *, /, +



b) /, *, +



c) +, *, /



d) Left to right



e) both (c) and (d) above

14. Consider the following file system employing first fit algorithm:



File


File size(pages)
                         fa



2



 fb



3



 fc



4



 fd



5



 fe



6


 The main memory of the system can accommodate


 10 pages. Which of the following can be 


 performed satisfactorily?



a) Save fa, save fb, delete fa, save fd



b) Save fa, save fb, save fe, delete fb



c) Save fd, save fa, save fb, delete fa, save fc




d) Save fa, save fe, delete fa, save fc



e) None of the above

15. Let A,B,C,D,E be any 5 processes arriving for execution as given below:

                                 ------------------------------------------------------------------

            

Process
       Execution

                    Arrival


           




time


          time

                                 ------------------------------------------------------------------




A


20



0




B


6



5




C


7



6




D


3



11




E


2



12



What is the sequence of execution in a system



employing pre-emptive shortest first algorithm?



a) ABCDE



b) ADCBE



c) AEDCB



d) ABDEC



e) None of the above

16. If head(str) returns the first character of string str, tail(str) returns all characters

 of str except the first
and concat(s1,s2) concatenates s1 and s2 in the order of s2

 and s1, what is concat(head(s), head(tail(tail(s))))

where s is the string “ABBAC”.



a) AB



b) BA



c) BC



d) CB



e) None of the above

17. What is the output of the following program?



main()



{




char *f(char *str);




printf(“%s\n”, f(“abcde”));



}



char *f(char *str)



{




int x,p,q;




for (q = 0,p = strlen(str)-1; q < p; q+=1,p--) 

{





x = str[p];





str[p] = str[q];





str[q] = x;




}




return str;



}



a) abcde



b) acdbe



c) ebdca



d) ebcda



e) abdce

    18. In the following assembly code, what is the value represented by R?




LOAD
X




ADD
Y




STORE  T1




STORE  T2




MULT
T1




MULT
Z




ADD
T2




STORE  R



a) z^2 * (x+y)^2 + (x+y)



b) z * (x+y)^2 + (x+y)^2



c) z * (x+y)^2 + (x+y)



d) z^2 * (x+y)^2 + (x+y)^2



e) None of the above

 19. What does the following function do?



int func(int x, int y)



{




if (y == 0) return y;




return (x+func(x,y-1));



}

  

a) Finds the LCM of x and y



b) Finds the HCF of x and y



c) Finds the product of x and y



d) Generates the Fibonacci number sequence



e) None of the above

20. What is the output of the following program?



#define
my_macro(first,second) {\





new=first+second;\





second+=first;\





first=(new-first);\





}



main()



{




int first = 0, second = 1;




do {





my_macro(first,second);




} while (new <= 1000);



}



a) Generates prime numbers in the range 0-1000b) Generates Fibonacci numbers in the range
0-1000c) Generates odd numbers in the range 0-1000 d) Compilation error
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